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1. Since he was my roommate for ¥ years, I .................. him very well now.
1) am knowing ¥)am going to know W) will know ¥) know

¥. Which one of the following sentences is grammatically correct?
1) What are the students interested in protecting the nature?

') Where do these wild animals live in the plains?

) Who will they destroy the natural homes of the animals?

¥) What are they going to be careful about?

Vol wear special clothes on New Year’s holiday next week.
1) will be ) am going to V) am ¥)am going
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